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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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MathConceptition 2018

1) 135x6=7 [1%]
2) 85+5=7? [1%]
3) (513-285)+~3=7? [1%]
4) 19x21=7? [1%]
5) 992 - 16 =7 [1%]
6) 1.26+8.74=7 [1%]
7) 4-3.14+69=7 [1%]
8 33x3.7=7 [1%]
9) 0.025x08=7? [1%]
10) 1.001 x 0.009 =? [1%]
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1 1) Evaluate / + 19 11 . (Express the answer in its simplest form.) [1 o/o]

24 " 24 24

see 7,19 11 o
T & 54 T 94 T 9z ERUEMHHIT. )

12) Evaluate l + l + l . (Express the answer in its simplest form.) [1%)]

2 3 0

=-l-% _+_+_ o Al-=|lr \EXE/\ =.

13) Evaluate 4l -2 / + 3 > . (Express the answer in its simplest form.) [1 o/o]

6 12 9

. 1 7 5
=& 43 = zﬁ + 33 o (ERUBBIBRT. )
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1 4) Evaluate 2 Jl- % (Express the answer in its simplest form.) [1 o/o]
AT 2 X 5o (ERUBREAHET. )
4 3
1 5) Evaluate 2% - 4% (Express the answer in its simplest form.) [1 0/o]
= 2 . 1 =
A8 25+ 4 o ERUBMABRT. )
16) How many hours are there in 4i days? [2.0%)]

4

43 R B E DI
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17) If one side of a square is 21 cm, then what is the [2.1%)]

3
area of the square in cm?2?

MRBEFHOBER 2 BX. RECHERES D
T HER?

18) Find the area of the following parallelogram in cm2.  [2.2%)]

U TFETHEREAEERZ D FEREX?
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19) If x— 17 = 49, then what is 3x + 8? [2.3%]

MR x-17 =49, 8| 3x + 8 BEEE?

20) John has $12.34. Mary has $9.87. How much more [2.4%)]
does John have?

N 1234 T, KR 987 T PR A%S T
25
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21) A pack of instant noodles costs $3.40. The price of a  [2.5%)]
pack of potato chips is 8.5 times that of the instant

noodles. How much does a pack of potato chips
cost?

—BREE 34 T —@%ﬁﬁﬁﬁ{g%_ﬁﬁpﬁﬁ
H85f. MERMEERSIT

22) A plain cake weighs 367.8 g while each strawberry [2.6%]
weighs 22.7 g. If 12 strawberries are added on a
plain cake, how many grams does it weigh?

EBREMEE 3678 %, M—ALTZMHEHE22.75%. —
BEEBEEEME 12 N+ 2RFE, MEESDR?
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23) Mary had $D. After spending $48, she used all [2.7%]
the remaining money to buy 5 packets of potato

chips. How much does a packet of potato chips cost?
(express your answer in algebraic expression)

INEEE D TEREE, AT 48 T, MAKRTHE
RAEET5S58ZR, BEaEREZIR?

( ERAREHART)

24) The area of the following shape is 120 cm?. Find x. [2.8%]

MTEFAEZERE 120 cm?, K x.

12 cm
20 cm

10 cm
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25) Find the shaded area in cm?2. [2.9%]

B EEHHNERRS ST HER?

8cm
_}\_ (_)| |_
6 cm
18 cm
" 18cm

26) In the figure, the southwest of which point(s) is H? [3.0%]

b LB B A= H?
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27) Find the volume of the following shape in m3. [3.1%]

U TIEETRHNEREZDIIHTK?

2y

25 m

m

28) Which 3-D shape has 24 edges and 16 vertices? [3.2%]

W—{EiZEBERE 24 (&% 16 ETE?
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29) The figure shows the net of a cube. If the area of [3.3%]
the net is 54 cm?, find the volume of the cube in
cm3.

B ER T —EEAFENBRELK. NREERE
MEFENERER 54cm?, BZIEHENRERES
DI FEK?

30) A mango costs 3i dollars, which is - times more [3.4%]

4 ' 3
expensive than an apple. If 1 kg of grapes costs the

same as the total price of an apple and a mango,
how much is 1 kg of grapes?

BETRE 32 T LEEERE 1 & 58
“ﬁ%%%ﬁﬁg—ﬁﬁ%ﬁ—ﬁ%%mﬁﬁz
M, M—AFEENEERS DT

P10
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31) Find thevalueof2 +5+ 8 + ... + 2015 + 2018. [4.0%]

K2+5+8+..+2015+ 2018 HI1&E.

32) Find the units digit of 132018, [4.1%]

K 1329 Wy E AL F .

P11
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33) John's age 25 years ago was equal to Mary’s age 3 [4.2%)]
years ago. If John’s age is 6 years less than 5 times
that of Mary, how old is John?

/MR 25 SERTEIBEINS N NE 3 FRTHE. E /6
BIBRENEL NERD 5 15 6 . MNBAR &

34) Car A and Car B are 120 km apart. As they move [4.3%)]
towards each other, they will meet in 2 hours. If
both cars increase their speeds by 10 km/h, then the
new meeting point will be 2 km away from the
original meeting point. If Car B is faster than Car A,
find the speed of Car A in km/h.

., ZWMEMRE 120 28, eEMBERMIT, $8%&
2 IpFIRTEIE. MMRMEZTEMREG/NE 10 28,
ARG ERANRIEEEE 2 22, BEMZ
HILHAEMR, BRENEERS NS ORE?

P12
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35) How many rectangles are there in the figure? [4.4%]

U TEGHZMERGR?

36) In the figure (not drawn to scale), the dashed line [4.5%)]
divides the area of the rectangle in the ratio 1 : 12.

What is the ratio a : b?

[& b ( A~ {5 bk {51 48 B% )fé%ﬂ&!ﬁﬁ 2 9 B W &R 7
HMArmEREfAE1:12. Ba:b =7
< ;4 >
a b

P13
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37) Find the remainder when 12345678987654321 is [4.6%)]
divided by 99.

K 12345678987654321 F&LL 99 HIEAEL.

38) There are some candies. If the candies are shared [4.7%]
among 8 children, 3 candies will be left. If the
candies are shared among 12 children, 7 candies
will be left. If the candies are shared among 15 children,

10 candies will be left. If the number of candies is
less than 1000, find the maximum possible number
of candies.

E—LEER, MREYSLH 8 /AR, 8T 3
K MREBH DL 12M6NAR, BIAT 74 R
Eo# 15 /B A, BB T 10 fiI. INRERD
EEDMN 1000 KL, MELEERFESE S DA

P14
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39) There are 200 students in Grade 5. Each student can [4.8%)]
speak at least 1 foreign language. If 167 students
can speak French, 145 students can speak German
and 158 students can speak Spanish, at least how
many students can speak all of the three foreign
languages?

RFFERER 200 (84, BHNELEHEZDGR—FEI
Z, MRGSEXHE 167 A, ESEIHE 145 A,
GRAMFXHIAE 158 A, HRFGR=FEIEHE
EEZDPERZHAN?

40) If m and n are positive integers such that m < n and [4.9%]

1 1 1

m w37 find the value of n.

MEm. n 2EEZEEEE m<n K&
K n HIME

1 _1
m n -~ 37

End of paper
£H57T

P15
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